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Tell whether the|point (3,4) is a solutionto the linear equation. Explain your decision.

1) 4x+2y=-4
—4x + y=-8

L -4 (3 +a ()= ey @)+ =5
-.L}:\--"\/ _g:_%’/
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BEC AUSE THE POINT CHERS IN BoTH E£QuaTiaNS,

—

Tell whether the\point (1,5) is a solution ito the linear equation. Explain your decision.

2) 5x+4y=—15
y=-8x+3
e 50)+4(s)>-\s &y g=-g(i)+S
a5 # -Is 5% -5
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Check solobun 1R oalGNAL

Solve each system by substitution. Clearly show EACH STEP. Circle your answer.

EQUATiUMé_ ‘ \.
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£ —1g=~\&] et oy
1) -4x—3yE_18 %5, yebdps1d ) g
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Solve eac! system by elimination. Clearly show EACH STEP. Circle your answer. , +
3) - —10y"—4l L4214 Iy(3x-9y=_21)-4 2 12 “7"'}“_"81
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Solve each system by sub tion or elemi

ion. Clearly show EACH STEP. Circle your
answer., '

ooz,
S5x+2y=-9

k.
(B)2) 6¢-55=-gp > L5 =—2.2\L
—\f6x-8y=-28) —= —CX+8I= 28

Sx+2( 4xaz) =-9 =L
X T +4 =-1 -

A Fiep X |4=2 |
B 5==1] e X~ CRY =R
‘ X iy E=a
Fiany: A +\0
g':'-‘(—\\_‘.'z_ X==12

®3) 6x+4y=0

\V!'
=-Tx-4y=-4

X=-4

C@4) C10x+2y=-28)~4 -"-I;/ZHSY‘- ki

4x-3y=9)s10 > Yg¥X -36Y=%0 ¥
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=3 _32Y =-2%
a =ik #2-\/ —2t
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Find Y =3() -YY=-4

—2§ -4y =4
4+2 +2% F;Nb X
- =24
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Solve each word problem using substitution or elimination.

ID: 1

Date Period

1) Ben's school is selling tickets to a fall musical. On the first day of ticket sales the school sold 3
adult tickets and 5 child tickets for a total of $61. The school took in $67 on the second day by

selling 1 adult ticket and 11 child tickets. Find the price of an adult ticket and the price of a child
ticket.

Key Info (draw picture): ) ) :
: Bgyp Hg[) — Seld & adul+ +|’c-_kt"i"'.5-} Echild £ ckets “poﬂ' 'iu

- I+ 4-ic Icet 1\ child +ickets
DaY #2 seld | adv ; e i,

> Define Variable(s) — remember units:
X= Price o+t cdu )+ ticket (-ﬂ
\}/’-‘- mece. ot child —icket (5)

Define Equation(s): > Solue i
=0\
b““ﬂ-;ql? (5X+S‘1.—.‘- ARIEE 3%X+SY X,

= =g )

==ty 5 _3% ~33]

pevdiE (X +Ny=6F )3 )ﬁo
- = -

—2® —28

F-“\”BX: :

Solve:

e 4= Blg) =4}
2R +d5/= 61
p—— —-25

Answer (in words)

L? H’C!U!'i' +ickets Cos $|2. and
LW\ +ic Ketrs cost 35

vl



2) The senior classes at High School A and High School B planned separate trips to New York City.
o, The senior class at High School A rented and filled 4 vans and 9 buses with 467 students. High

UPD School B rented and filled 1 van and 12 buses with 575 students. Each van and each bus carried

‘;v & the same number of students. Find the number of students in each van and in each bus.
L

Key Info (draw picture): .
H,S. F— 4 Vens, 9 buses —— HLF stvdents

S students
H.S. % — \ \IHM/ ]; bUBQ,S st 5‘? > e

Define Variable(s) — remember units:
X= ¥ shdeats in each Ven
y: HF‘S"‘UAA/\’@, in esel bus

Define Equation(s): Selue -k
e qx +ay =46F
v Eql: Lf’)("t“ci‘f w i — X/
- — = = = —Z300
WS qu:j (X +12Y = 'S?S)“‘L‘ <3~y =%

Solve: - Q“f & = “—535
-39 -39

Fion X

X+\2(4F) =575

+-5L,; =835
G -5 U9 -st'

—

X:‘.\

Answer (in words)

C) T hece, oV W students Pe~van and
U3 studeats P bus.




